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g bl Ba/em’ | cpm’ |Bg/om? | cpm |Bq/om?| com |Basom?| cpm |Basom?| cpm |Ba/om?| cpm |Ba/om?| cpm |Basom?| cpm |Basom?| cem ‘| Basem?| cpm |Basem?| com |Basom?| cpm

1 [EEFIE RATAT <1.04| 70 | <104 70 |<1.04| 80 |<1.04]| 80 |<1.04| 80 |<104| 80 |<1.04| 80 |<092| 80 |<092| 70

2| B AL B IR AR AT <1.04| 70 | <104 70 | <104 70 |<1.04]| 80 |<1.04| 80 |<104| 80 |<1.04| 80 |<092| 80 |<092| 90

S|HEBAEALHETYT <104 70 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<104| 80 |<1.04| 70 |<092| 80 |<092| 90

4| BEEMAELETYT <1.04| 80 |<104| 70 | <104 80 |<1.04]| 80 |<104| 80 |<104| 80 |<1.04| 80 |<092| 70 |<092| 90

5|RFAE 1TU7T <1.04] 80 |[<1.04| 70 [<1.04( 70 |<1.04| 70 |<1.04( 80 |<104( 70 |<1.04| 80 |<092| 70 |<092| 80

6|t 2— (AR KPR 7 <tod | 70 |<toa| 70 |<ioa| 70 [<io4]| 70 |<roa]| so |<ros| 80 |<ioa| 80 |<0o2| 80 [<092| 70

knmeErEns <104 80 | <104 70 | <104 70 |<104| 70 [<1.04| 70 |<1.04| 80 |<104| 80 |<092| 70 |<092| 70

8| HEFLBRAERTYT <104| 70 [<1.04| 80 |<104]| 80 |<1.04| 70 |<i.04| 70 |<1.04| 70 |<i04| 70 [<092| 80 |<092| 90

9|FEF A ARRRARTAT <104 70 [<104| 70 |<104]| 80 |<1.04]| 70 |<1.04| 80 |<104| 70 |<1.04| 80 |<092| 80 |<092| 70

10|ZEF] BHEARKRARTAT <104 70 [<1.04| 70 |<104]| 70 |<1.04| 80 |<1.04| 80 |<i04| 80 |[<1.04| 70 |<092| 70 |<092| 70

11 [#FHFEME <104 70 |<104| 80 |<1.04| 70 |<1.04| 70 |<104| 70 |[<1.04| 70 |<1.04| 70 |<092| 70 |<092| 70

12 [JAEAZ#7 M8 55 — 1HE %3 2% <104| 70 |<104| 80 | <104 70 |<104| 70 |<104| 70 |<104]| 70 |<104| 80 |<092| 70 |<092| 70
13[JAEAZ T HEER BB — HEB AE R <104 | 70 |<1.04| 80 |<1.04]| 80 |<1.04| 70 |<1.04| 70 |<i.04| 70 |<1.04]| 80 |<092| 80 |<092| 70

14(F8F Bt 2—KRPTET <1.04| 70 | <1.04( 80 |<104| 80 |<1.04| 80 |<104]| 70 |<104| 80 |<i04| 80 |<092| 80 |<092| 80

15[ 3hHLEERBETY7 <1.04| 80 |<1.04| 70 |<104| 70 |<1.04| 70 |<104| 80 |<i.04| 80 |<i.04| 8 |<092| 80 |<092| 70

16|t ERFEL T <1.04] 80 |[<104| 70 | <104 70 |<1.04| 70 |<1.04| 70 |<104 | 70 |<1.04| 70 | <092| 70 |<092| 70

17| RRAFR AL R R EE IR ARE S ERR <1.04| 80 |<1.04| 80 |<104| 70 |<i1.04| 70 |<104| 80 |<1.04| 80 |<i04]| 70 |<092| 70 |<092| 70
18RRI L e R EERADEF S FE <1.04] 70 [<104| 80 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<104| 8 |<i04| 70 |<092| 80 |<092| 80

19| EaREZRHEAN <1.04| 80 |<1.04] 70 |<104| 80 [<1.04| 80 |<104]| 70 |<1.04| 80 |<i04| 80 |<092| 80 |<092| 70

20| REEHAENEAD <1.04| 70 | <1.04] 80 |<i04| 80 [<1.04| 70 |<104]| 70 |<104| 70 |<i04| 80 |<092| 70 |<092| 70

21 | REREEFATEEEI{TY7 <104 80 |<1.04| 80 |<104]| 70 |<1.04| 70 |<1.04| 80 |<104| 70 |<i04| 80 [<092| 70 |<0982| 70

2| REREEFEADH <104 70 |<i04| 70 |<104| 70 |<1.04| 80 |<1.04| 80 |<1.04| 8 |<104| 70 [<092| 70 |<092| 90

23|I ~4S WA EEREG S — <104| 70 |<104| 70 | <104 70 |<ro4| 70 |<104| 70 |<104]| 80 |<104| 80 |<092| 70 |<092| 70

24| IBER™ S —b <104 80 |<1.04| 80 |<1.04| 80 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<104| 70 |<092| 80 |<092| 90

25|1~ 45 HPPAEYERY —k <1.04| 80 |<104| 80 |[<1.04]| 80 |<1.04]| 80 |<1.04| 80 |<104| 80 |<1.04| 70 |<092| 80 |<092| 70

26| REREFTY —b <104 | 70 [<104| 70 |<to4]| 80 |<ioa]| s0 |<ioa]| 70 |<104| 70 |<104| 80 |<092| 70 |<092| 90

27(1./25BABAFREM 7 —h <104 80 [<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<092| 80 |<092| 70

28|55 4 —F R BATELEIS <1.04] 70 [<104| 70 |<1.04]| 80 |<1.04| 80 |<1.04| 80 |<104| 70 |<1.04| 80 |<092| 80 |<092| 70

29|5/65H—EREBAOH <1.04] 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<i1.04| 80 |<104| 80 |<1.04| 80 |<092| 80 |<092| 70

30|65 Ha—E BRI A O ATER <104 70 [<104| 80 |<104]| 80 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<i04| 80 |<092| 80 |<092| 80
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ABE | BH TR :  9.20E-01 Bq/cm® v/
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i R EIBAT Ba/om? [ cpm | Basom? | com |Basem2| com |Basem?| com |Basom?| com |Basem?| com |Basom?| com |Basem?| com |Basem® | com “|Basom?| com |Basom?| eom |Basem?| com
31 (6 5H4T /BRTEEE1H <1.04| 80 |<104| 80 |<104| 70 |<104| 80 |<1.04]| 80 |<104| 80 |<1.04| 80 [<092| 80 |<092| 80
2(tERAOEGY—b <104 80 |<1.04| 80 |[<104| 70 |<104| 70 [<1.04| 70 |<104| 70 |<104| 70 |<092| 70 |<092| 80
33| MBI R BAT <104 80 |<104| 80 |<104| 70 |<104| 70 |<1.04]| 70 |<1.04| 70 |<104| 70 | <092 70 |<092| 70
34| A& 1BERRAPRAT <104 80 |<104| 70 |<104| 70 |<104| 80 |<104| 80 |<1.04| 80 |<i04| 80 |<092| 70 |<092| 70
35 (1830 M B AR DB R B AT <104 70 |<104| 80 |<104| 80 |<104| 80 |<1.04]| 70 |<1.04| 70 |<1.04| 80 |<092| 70 |<092| 80
36(/U—2TvH Nol FREEEALEAND) <104 70 |<104| 70 |<104| 70 [<104| 70 |<092| 70 |<092| 70
37|TU—TvF No2(IREAEASHE) / / / <1.04| 80 |<104| 70 |<104| 80 |<1.04| 80 |<092| 80 |<092| 80
38(7—TvF No3(IREARHIBRFE) / / / <1.04| 80 |<1.04| 80 |<104| 80 |<1.04| 80 |<092| 80 |<092| 70
39|TY—UFuF Nod (RERAEEEISILE) / / / <1.04| 80 |<1.04| 70 |<104| 70 |<1.04]| 70 |<092| 70 |<092| 70
40— Tw¥ NoS(IRBARESHIFILH) / / / <104 70 |<104| 70 |<1.04]| 70 [<1.04| 70 |<092| 70 |<092| 80
41 (TJ—TvF Nob(IREAEEHIBEH) / / / <1.04| 80 |<104| 80 |<104| 70 |<1.04| 70 |<092| 80 |<092| 70
£2|7)—2FvF Nol(REREFTY) <104 70 |<104| 70 |<104| 70 |<1.04| 70 |<092| 80 |<092| 90
43— Tv¥F No8(REAERME) <104 70 |<1.04| 80 |<104| 80 |<1.04| 80 |<092| 70 |<092| 90
44|7)—>TvF No9(REFBERE) / / / <104 80 |<104| 80 |<104| 80 |<1.04| 80 |<092| 80 |<092| 80
45— TvF Nol0ERBEFTY) / / / <104| 70 [<104| 70 |<1.04]| 70 |<i04| 70 |<092| 80 |<092| 70
46— Fv¥ Nodl (FREREKHE) / / / <1.04| 70 |<104| 80 |<104| 80 |<104| 70 |<092| 70 |<092| 80
47|7U—2T Y% Nol2(REAKME) / / / <1.04| 80 |<1.04| 80 |<104| 80 |<104| 70 [<092| 70 | <092 70
48|7—>TvF Nol3(fREAEFTY) . / / / <104 70 |<1.04| 70 [<1.04| 70 |<1.04| 70 |<092| 70 |<082| 90
49|17—T % Nold(RBAEFTY) / / / <104 70 |<1.04| 70 |<i04| 70 |<104| 70 |<092| 70 |<092| 70
50|7—>T % Nol5(IREEAEKE) <104| 70 |<104| 70 |<1.04| 80 |<1.04]| 80 |<092| 80 |<092| 70
51|7IL—Fv¥% No. 1(EKmE) <104 70 |<104| 80 |<104| 80 |<1.04| 80 |<1.04]| 70 |<104| 80 |[<1.04| 80 |<092| 80 |<092| 80
52| T I—FvF No. 2(JL—F%) <104 | 80 |<104]| 80 |<104| 70 |<1.04| 80 |<i04| 80 |<1.04| 80 |<104| 70 |<092| 80 | <092 t10
53| 7 I —Tv¥ No. 3(FFY) <1.04| 80 |<1.04| 70 |<t04| 70 | <104 70 |<104| 70 |<i1.04| 70 |<104| 80 |<092| 80 |<092| 90
54| TIL—TvF No. 4(FFY) <104 80 [<104| 70 |<104| 70 |<104| 70 |<104]| 80 |<1.04| 70 |<1.04| 70 |<092| 70 |<092| 70
55|7IL—Tv¥ No. 5(FFY) <104 80 |<104| 80 |<i04| 70 |<104| 70 |<1.04| 70 |<104| 70 |<104| 80 |<092| 80 [<092| 70
56| IL—Tv¥ No. 6(FFY) <104 70 | <104 | 70 |<i04| 70 |<104| 70 | <104 70 |<i04| 70 |<104| 70 [<092| 70 [<092| 70
57|FI—FTv¥ No. 7(FFY) <1.04| 70 |<i04| 70 [<104| 70 |<104| 70 |<1.04| 70 | <104 80 |<104| 70 |<092| 80 |<092| 70
58| 7IL—T ¥ No. 8(FTFY) <1.04| 80 |<1.04| 80 |<1.04| 70 |<104| 70 |<1.04| 70 |<104| 80 |<1.04| 80 |<092| 80 |<092| 70
59| 7 IL—F ¥ No. 9(JL—FY) <104 | 70 |<1.04]| 80 |<1.04| 70 |<i04| 80 |<1.04| 80 |<104]| 70 |<i04| 80 |<092| 70 | <092 70
60|7IL—Tv¥ No. 10(FL—F%) <toa| 70 |<ioa| 70 |<ioa| 70 [<ioa| 80 [<ios| 70 |<ioa| so [<ioa]| 80 [<o92| 70 |<092]| 70
61|FI—FvF No:11(FFY) <1.04 | 80 [<to4| 70 |<104| 80 |<104| 70 [<104| 70 |<104]| 70 |<1.04| 80 |<092| 80 |<092| 70
62|7IL—Tv¥ No. 12(FFV) <104 | 80 |[<1.04| 80 [<i04| 70 |<1.04| 80 |<1.04| 80 |<i04| 70 [<i04| 80 |<092| 80 [<092| 90
Y




